
MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

LINES AND ANGLES

Solved Examples

1. Find the measure of an angle which is  more than its

complement.

Watch Video Solution

32∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CegASld4o7Ci


2. The supplement of an angle is  more than three times

its complement. Find the angle.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10∘

60∘

50∘

70∘

80∘

3. Fin the measure of the completement of an angle of

Watch Video Solution

37∘ 42' 34'

https://dl.doubtnut.com/l/_iad7ojB6YWOd
https://dl.doubtnut.com/l/_XnoK8ats9EmT


4. Angles A and B are complementary and the measure of

angle A is twice the measure of angle B. Find the measures

of angles A and B

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠A = 20∘ , ∠B = 40∘

∠A = 30∘ , ∠B = 60∘

∠A = 60∘ , ∠B = 30∘

∠A = 15∘ , ∠B = 30∘

https://dl.doubtnut.com/l/_XnoK8ats9EmT
https://dl.doubtnut.com/l/_ts8wZmOHVQld


5. If  is the measure of an angle which is equal to its

completment and  is the measure of an angle which is

equal to its supplement, then find 

Watch Video Solution

x ∘

y ∘

x ∘

y ∘

https://dl.doubtnut.com/l/_CzYUjmRdCpWR


6. Find the values of a and b from the adjoining figure. 

A. 

B. 

C. 

D. 

a = 38∘ and b = 35∘

a = 37∘ and b = 36∘

a = 37∘ and b = 35∘

a = 40∘ and b = 35∘

https://dl.doubtnut.com/l/_bExZ0BqfRYRN


Answer: C

Watch Video Solution

7. x and y from a linear pair of two adjactent angles. If

, find the values of x and y

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 3x − 12∘

x = 47∘ and y = 132∘

x = 48∘ and y = 132∘

x = 45∘ and y = 132∘

x = 48∘ and y = 122∘

https://dl.doubtnut.com/l/_bExZ0BqfRYRN
https://dl.doubtnut.com/l/_JEY1Pr4aYOM8
https://dl.doubtnut.com/l/_wKR8oPHihTK0


8. Find the values of a and b from the adjoining figure. When

Watch Video Solution

a − b = 4∘

9. In the adjoining figure, find the values of x and y, Given

that AOB is a straight line. 

Watch Video Solution

https://dl.doubtnut.com/l/_wKR8oPHihTK0
https://dl.doubtnut.com/l/_RrfY9htdAKEn
https://dl.doubtnut.com/l/_Fx2vJwlXXfN5


10. In Figure, 
Find the value of 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB ∣ ∣ CD. x

⇒ x = 57∘

⇒ x = 56∘

⇒ x = 59∘

⇒ x = 58∘

https://dl.doubtnut.com/l/_Fx2vJwlXXfN5
https://dl.doubtnut.com/l/_Xkdp11EDNFdI


11. The given figure shows that two parallel lines cut by the

transversal AB. If , find the angles a,b,c,d,e and

x.

Watch Video Solution

∠a : ∠b = 4: 5

12. In Figure, .
Find the value of 


Watch Video Solution

AB ∣ ∣ CD x

https://dl.doubtnut.com/l/_Xkdp11EDNFdI
https://dl.doubtnut.com/l/_9XxwFzm3HyXo


13. In the following figure , AB||CD . Find  and reflex

aangle PQR

Watch Video Solution

∠PQR

14. Prove that if the two
arms of an angle are perpendicular

to the two arms of another angle, then the
angles are either

equal or supplementary.

Watch Video Solution

15. If the bisectors of a pair of corresponding angles formed

by a transversal with two given lines are parallel;prove that

the given lines are parallel.

W t h Vid S l ti

https://dl.doubtnut.com/l/_5GdQvc2ma6Bn
https://dl.doubtnut.com/l/_4JmsbpIJg5ce
https://dl.doubtnut.com/l/_I5rxgEgRBE25


Watch Video Solution

16. If two parallel lines intersected by a transversal; prove

that the bisectors of the two pairs of interior angle encloses

a rectangle.

Watch Video Solution

17. If in a  then 

A. 

B. 

C. 

D. 

ΔABC, ∠A = 45∘ , ∠B = 75∘ , ∠C = ?

60∘

50∘

70∘

80∘

https://dl.doubtnut.com/l/_I5rxgEgRBE25
https://dl.doubtnut.com/l/_PSsnPiEEL1df
https://dl.doubtnut.com/l/_ntLioFXMyBuq


Answer: A

Watch Video Solution

18. In a triangle ABC, . Then the smallest

angle in the  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2∠A = 3∠B = 6∠C

ΔABC

40∘

60∘

80∘

https://dl.doubtnut.com/l/_ntLioFXMyBuq
https://dl.doubtnut.com/l/_wSG0dHrW2NAC
https://dl.doubtnut.com/l/_2T62YPATcDi5


19. Find  from the given figure.

Watch Video Solution

x ∘

20. In the given figure

,

find the measure of  


A. 

B. 

∠A = x + 8∘ , ∠B = x + 3∘ and ∠BOD = 5x − 11∘

∠BCD

60∘

65∘

https://dl.doubtnut.com/l/_2T62YPATcDi5
https://dl.doubtnut.com/l/_fc40bG2dJdM6


C. 

D. 

Answer: D

Watch Video Solution

50∘

44∘

21. In the adjoining figure find ∠x

https://dl.doubtnut.com/l/_fc40bG2dJdM6
https://dl.doubtnut.com/l/_3CbfjdNeDXMc


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

90∘

120∘

155∘

135∘

22. In the adjoining figure find 

Watch Video Solution

∠x

https://dl.doubtnut.com/l/_3CbfjdNeDXMc
https://dl.doubtnut.com/l/_0lZrHwz3mvKV


23. Find the measure of  in the adjoining figure. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠x

x = 14∘

x = 24∘

x = 34∘

x = 44∘

https://dl.doubtnut.com/l/_xHZtOai6c2R4


24. In the given figure, line m is parallel to n. Given that 




 


Find the valuses of x and y 

Watch Video Solution

∠BAP = 3x + 10∘ , ∠BAC = 3x

∠ABC = 3y − 5∘ , ∠ACB = x + y + 5∘

25. In , bisectors of  interesct each other

at point O. Prove that

ΔABC ∠B and ∠C

∠BOC = 90∘ + ∠Ai. e. , ∠1 = 90∘ +
1

2

1

2

https://dl.doubtnut.com/l/_j8tBKrWtnPHb
https://dl.doubtnut.com/l/_xosYFQOSHLzz


Problems From Ncert Exemplar

Watch Video Solution

26. The sides 
and 
of 
are product to 
and 

respectively. the
 bisectors of exterior angles at 
 and 
 of 


meet at 
(fig.19)
prove that 

Watch Video Solution

AB AC ABC P Q

B C

ABC O ∠BOC = 900 − ∠A
1

2

1. In Fig. 6.16, if , then prove that AOB is a line.

Watch Video Solution

x + y = w + z

https://dl.doubtnut.com/l/_xosYFQOSHLzz
https://dl.doubtnut.com/l/_qPa3nD2SMmak
https://dl.doubtnut.com/l/_LSbsNeikvBGU


2. In figure POQ is a line. Raw Oris perpendicular to line PQ

.OS is another ray lying between rays OP and OR. Prove that

 


Watch Video Solution

∠ROS (∠QOS − ∠POS)i. e. , ∠1 = (∠2 − ∠3)
1

2

1

2

3. In figure if ,  and , find 

. 

AB ∣ ∣ CDCD ∣ ∣ EF y : z = 3: 7 x

https://dl.doubtnut.com/l/_EdTwb4XW8mZd
https://dl.doubtnut.com/l/_88wEBaOFgs66


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 26∘

x = 120∘

x = 126∘

x = 106∘

https://dl.doubtnut.com/l/_88wEBaOFgs66


4. In Figure, 
are two mirrors placed
parallel to

each other. An incident ray 
strikes the mirror 
at 

the reflected ray moves
 along the path 
 and strikes the

mirror 
 and 
 and again reflects back
 along 
 Prove

that 


Watch Video Solution

PQ  and  RS

AB PQ B,

BC

RS C CD.

AB ∣ ∣ CD.

5. In Fig. 6.44, the side QR of PQR is produced to a point S. If

the bisectors of 
 meet at point T, then∠PQR\ and∠PRS

https://dl.doubtnut.com/l/_eELAr3Mqhp68
https://dl.doubtnut.com/l/_vrq2lxwgvISe


Exercise 6 A

prove that  



.

Watch Video Solution

∠QTR = ∠QPR
1

2

6. A  ABC is right angled at A. L is a point on BC such that

AL  BC. Prove that .

Watch Video Solution

Δ

⊥ ∠BAL = ∠ACB

https://dl.doubtnut.com/l/_vrq2lxwgvISe
https://dl.doubtnut.com/l/_FZdjYLKBhVwB


1. Two angles are in the ratio  Find the angles if they are

(i) complementary (ii) supplementary to each other.

Watch Video Solution

4: 5

2. The complement of and angles is  of the a right . Find

the angle.

Watch Video Solution

th
1

4

3. Find the angle which is  more than it complement.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_gViY58pcD8zc
https://dl.doubtnut.com/l/_DfCAnzd4n7vh
https://dl.doubtnut.com/l/_pfaJ9j3KYfqD


4. Find the angle which is equal to its supplement

Watch Video Solution

5. If the supplement of an
 angle is three times its

complement, find the angle.

Watch Video Solution

6. Find the supplement of 

Watch Video Solution

28∘ 35'

7. Find the supplement of 81∘ 30' 43'

https://dl.doubtnut.com/l/_WASQd3hIinFZ
https://dl.doubtnut.com/l/_w4eRSfNMgadT
https://dl.doubtnut.com/l/_v0zOTGYEx2lp
https://dl.doubtnut.com/l/_S1am2bt2c4oU


Watch Video Solution

8. If the angles  make a linear

pair, find the values of a and b when 

Watch Video Solution

(2a − 30∘ ) and (b + 60∘ )

a − b = 30∘

9. Two adjacent angles on a straight line are

 . Find the value of x and

magenitude of both the angles.

Watch Video Solution

(5x − 6) ∘ and 7(x + 6) ∘

10. In the given figure if c=3b and a=5b find the value of a and

b 

https://dl.doubtnut.com/l/_S1am2bt2c4oU
https://dl.doubtnut.com/l/_4NyG7BRJaOZ6
https://dl.doubtnut.com/l/_j9CvA216Z0jx
https://dl.doubtnut.com/l/_cSC79pkhp3nF


Watch Video Solution

11. In the adjoining figure, POQ is a straight line. Find the 

and  when  


m

n m : n = 7: 5

https://dl.doubtnut.com/l/_cSC79pkhp3nF
https://dl.doubtnut.com/l/_PMn1WedQ64Z3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

105∘ , 65∘

106∘ , 75∘

105∘ , 75∘

105∘ , 95∘

12. Find the value of x if AOB is a straight line 

Watch Video Solution

https://dl.doubtnut.com/l/_PMn1WedQ64Z3
https://dl.doubtnut.com/l/_vI8BFZs8uG2X


13. If  find a,b and c 


Watch Video Solution

a : b : c = 2: 3: 4,

https://dl.doubtnut.com/l/_vI8BFZs8uG2X
https://dl.doubtnut.com/l/_muNwtUKxKCWT


14. Find the value of x. 

Watch Video Solution

15. Show that the bisectors of two adjacent supplementary

angles include a right angle

Watch Video Solution

https://dl.doubtnut.com/l/_yW0sLokPpl5a
https://dl.doubtnut.com/l/_w1lmkZuc5RLB


16. Find the measure of an angle if five times of its

completement is  less than twice of its supplement.

Watch Video Solution

24∘

17. Find the complement of the angle 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(150 − a + b) ∘

(a − b − 60) ∘

(a − b + 60) ∘

(a + b + 60) ∘

(a + b − 60) ∘

https://dl.doubtnut.com/l/_w1lmkZuc5RLB
https://dl.doubtnut.com/l/_uzYBkwehqI5t
https://dl.doubtnut.com/l/_rIOXGhIM6M0f


18. In the given figure, find the measures of

. 


Watch Video Solution

∠AOC, ∠COF , ∠DOE and ∠BOF

19. Prove that the bisectors of a pair of vertically opposite

angles are in the same straight
line.

https://dl.doubtnut.com/l/_rIOXGhIM6M0f
https://dl.doubtnut.com/l/_TX5137dbhq5v
https://dl.doubtnut.com/l/_jO1ef1dFiqCW


Exercise 6 B

Watch Video Solution

1. If AB ||CD in each of the following find x 

Watch Video Solution

2. Find giving reasons, the measres of angles a,b,c,d and e. 

 

https://dl.doubtnut.com/l/_jO1ef1dFiqCW
https://dl.doubtnut.com/l/_drDqe36ssIX5
https://dl.doubtnut.com/l/_5733cc45ZoXY


Watch Video Solution

3. State giving reason whether AB||CD 

Watch Video Solution

https://dl.doubtnut.com/l/_5733cc45ZoXY
https://dl.doubtnut.com/l/_qiUvkYvIOSbw


4. If , find the angles c and d 


A. 

B. 

C. 

D. 

Answer: A

a : b = 4: 5

c = 100∘ , d = 80∘

c = 90∘ , d = 90∘

c = 110∘ , d = 70∘

c = 120∘ , d = 60∘

https://dl.doubtnut.com/l/_DhMTVoVQtSEr


Watch Video Solution

5. If , find the angle c and b 


Watch Video Solution

a : b = 1: 2

6. In each case given below find the the vlues of x and y then

angles represented by a, b and c, 

https://dl.doubtnut.com/l/_DhMTVoVQtSEr
https://dl.doubtnut.com/l/_rqhuzrglK9E8
https://dl.doubtnut.com/l/_REFN39jzOzGi


(i) Given  


(ii) Given  


Watch Video Solution

x : y = 7: 11

x + y = 240∘

https://dl.doubtnut.com/l/_REFN39jzOzGi


7. In the following figure , l||m||n. Find x in each case. 

Watch Video Solution

8. In each case given below find the value of x. 

Watch Video Solution

https://dl.doubtnut.com/l/_B6JotE6CkwDF
https://dl.doubtnut.com/l/_jmbT8iFkC77I


9. In the adjoining figure AB||CD, find x and y 

Watch Video Solution

10. Giving reason show that 

 
∠x = ∠a + ∠b

https://dl.doubtnut.com/l/_0XgpqkP08WZY
https://dl.doubtnut.com/l/_rVKbGeBoVE0b


Watch Video Solution

11. In each of the following figures, find the values of x and y 

Watch Video Solution

https://dl.doubtnut.com/l/_rVKbGeBoVE0b
https://dl.doubtnut.com/l/_K3LgwrDnYZfR


12. In the following figure, AB||CD, QM and RN are bisectors of

alternate angles AQR and QRD respectively. Show that

QM||RN. 

Watch Video Solution

13. In the following figure AB||CD,QM and RN are bisectors of

corresponding angles PQB and QRD respectively. Show that

https://dl.doubtnut.com/l/_3wXLfGsZg5AE
https://dl.doubtnut.com/l/_UNr8yehL29hP


QM ||RN 

Watch Video Solution

14. Two straight lines are cut by a transversal. If the bisectors

of a pair of co-interior angles are perpendicular to each

other , prove the two straight lines are parallel to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_UNr8yehL29hP
https://dl.doubtnut.com/l/_g3HVe8Ww1sF9
https://dl.doubtnut.com/l/_YR318wjbSo4r


Exercise 6 C

15. In a parallelogram; the bisectors of any two consecutive

angles intersect at right angle.

Watch Video Solution

16. State giving reason whether AB, CD and EF are parallel 

Watch Video Solution

https://dl.doubtnut.com/l/_YR318wjbSo4r
https://dl.doubtnut.com/l/_Q6gyCVHqVysc


1. Angles of a triangle are  .

Find the measure of x and each angle of the triangle

Watch Video Solution

(3x)
∘

, (2x − 7) and (4x − 11)
∘

2. Prove that measure of
each angle of an equilateral triangle

is 

Watch Video Solution

600.

https://dl.doubtnut.com/l/_lODfOEjs1arY
https://dl.doubtnut.com/l/_8FZ2Sf4g8QXB


3. Find the x and y from the adjooining figure. 

Watch Video Solution

4. In a  find each of the

triangle.

Watch Video Solution

ΔABC, ∠A = 2∠B = 3∠C,

https://dl.doubtnut.com/l/_AgtOMbiPGCwO
https://dl.doubtnut.com/l/_4tntrLFt5j8K


5. In

find, each angle of the triangle.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC, ∠A = x + 15∘ , ∠B = x and ∠C = 2x − 35∘

65∘ , 50∘ and 65∘

65∘ , 40∘ and 65∘

75∘ , 40∘ and 75∘

6. In , bisectors of  interesct each other

at point O. Prove that

ΔABC ∠B and ∠C

https://dl.doubtnut.com/l/_FRR230omeF2z
https://dl.doubtnut.com/l/_Ta1D0mTjRWx7


Watch Video Solution

∠BOC = 90∘ + ∠Ai. e. , ∠1 = 90∘ +
1

2

1

2

7. An angle of a triangle mesures  and the other two

angles differ by  . Find the angles.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

68∘

16∘

60∘ , 46∘

64∘ , 48∘

54∘ , 48∘

64∘ , 42∘

https://dl.doubtnut.com/l/_Ta1D0mTjRWx7
https://dl.doubtnut.com/l/_x7PofbvfZEKJ
https://dl.doubtnut.com/l/_3Dk9IfieGEah


8. Find the value of x form the adjoining diagram. 

Watch Video Solution

9. In  sides AB and C are produced to D and E

respectively. Bisectors of exterior angles so formed interest

each other at point I. If 

Find,

ΔABC

∠BAC = 80∘ and ∠ACB = 50∘

https://dl.doubtnut.com/l/_3Dk9IfieGEah
https://dl.doubtnut.com/l/_BrkYoABxcMOe


(i) 


(ii) 


(iii) 


(iv) 


(v)  


Watch Video Solution

∠ECB

∠DBC

∠ICB

∠IBC

∠BIC

https://dl.doubtnut.com/l/_BrkYoABxcMOe


10. In triangle ABC,the bisector of interior angle A and the

bisector angle C meet at point O. Prove that

Watch Video Solution

∠AOC = ∠B
1

2

11. From the adjoining figure prove that

 
∠A + ∠B + ∠C + ∠D + ∠E + ∠F = 360∘

https://dl.doubtnut.com/l/_QHdxfvumhEjv
https://dl.doubtnut.com/l/_PpfyhU9VZCov


Watch Video Solution

12. The side BC of  is product to N. bisector of angle

meets BC at M. Prove that 

Watch Video Solution

ΔABC

∠ABC + ∠ACN = 2∠AMC

https://dl.doubtnut.com/l/_PpfyhU9VZCov
https://dl.doubtnut.com/l/_aYIfvWarA894


13. Bisectors of angles A and B of a parallelogram ABCD meet

at point M. Prove that 

Watch Video Solution

∠AMB = (∠C + ∠D)
1

2

14. Prove that bisectors of any two adjacent angles of a

rhombus from a right angled triangle with common arm of

the angles.

Watch Video Solution

15. Triangle ABC is right angles at B. Internet bisectors of

acute angles A and C meet at point I. Find the measure of

angle AIC

W t h Vid S l ti

https://dl.doubtnut.com/l/_MkNfA5va92TR
https://dl.doubtnut.com/l/_YQdDJJrhjuVQ
https://dl.doubtnut.com/l/_KFdiGHQbsKZa


Watch Video Solution

16. Bisectors of angles A and D of a quadrilateral ABCD meet

at P. Prove that 

Watch Video Solution

∠APD = (∠B + ∠C)
1

2

17. In the given figure, AD is altitude and AE is bisector of

angle BAC of . Show that 


Watch Video Solution

ΔABC ΔDAE = (∠B − ∠C)
1

2

https://dl.doubtnut.com/l/_KFdiGHQbsKZa
https://dl.doubtnut.com/l/_TX5Yh5BniiXn
https://dl.doubtnut.com/l/_E1LT672ZdUhq


18. In

 ,

find all angles of the triangle

Watch Video Solution

ΔABC, ∠A − ∠B = 16∘ and ∠C − ∠A = 34∘ = 34∘

19. In a right angled triangle ABC,  p is a point on

BA produced and Q is a point on BC produced. Find the the

value of 

Watch Video Solution

∠B = 90∘ ,

∠PAC + ∠QCA

https://dl.doubtnut.com/l/_E1LT672ZdUhq
https://dl.doubtnut.com/l/_37iHrLUbwsbl
https://dl.doubtnut.com/l/_YncP6pw9qHSx


Revision Exercise Very Short Answer Questions

20. In the adjoining figure, AB||CD. If the

 then find 

Watch Video Solution

∠BAE = 25∘ and ∠CDE = 30∘ , ∠AED

1. COMPLEMENTARY ANGLES If the sum of the measures of

two angles is  then the angles are called complementary

angles and each is called a complement of the other.

Watch Video Solution

90∘

https://dl.doubtnut.com/l/_0aKaiWXmP5ir
https://dl.doubtnut.com/l/_VCn2SK32L9g9


2. SUPPLEMENTARY ANGLES Two angles are said to be

supplementary angles if the sum of their measures is 

and each of them is called a supplement of the other.

Watch Video Solution

180∘

3. Find the complement of 

Watch Video Solution

48∘

4. Find the complement of '

Watch Video Solution

37∘ 30

https://dl.doubtnut.com/l/_551arX8Yp8L3
https://dl.doubtnut.com/l/_QWR91PvDYbPW
https://dl.doubtnut.com/l/_lsg3lrXZMhE0


5. In the given figure if find, , find  


A. 

B. 

C. 

D. none of these

∠AOC = 45∘ ∠BOD

45∘

135∘

90∘

https://dl.doubtnut.com/l/_Et1JjN42rqIn


Answer: A

Watch Video Solution

6. In the given, figure find the . 


A. 

B. 

C. 

D. 

∠COA

110∘

120∘

130∘

140∘

https://dl.doubtnut.com/l/_Et1JjN42rqIn
https://dl.doubtnut.com/l/_3PhZCB3om7U5


Answer: B

Watch Video Solution

7. In the given ,figure find the value of x . 

Watch Video Solution

https://dl.doubtnut.com/l/_3PhZCB3om7U5
https://dl.doubtnut.com/l/_GSHfXBonVPkw


8. In the given figure if AB|| CD find  


Watch Video Solution

∠APM and PQD

https://dl.doubtnut.com/l/_v2toKBIGyW3t


9. In the figure if AB || CD and AD||BC, find  


Watch Video Solution

∠A and ∠D

10. In the following figure if AB||CD, find the value of x. 

https://dl.doubtnut.com/l/_4NQNb40BWnrZ
https://dl.doubtnut.com/l/_ZQ0KF37RkWNs


Revision Exercise Short Answer Questions

Watch Video Solution

1. In the given firgue, AOB is a straight line if

find  


A. 

B. 

∠AOC = (3x − 10) ∘ ∠COD = 50∘ and ∠BOd = (x + 20) ∘

∠AOC

80∘

50∘

https://dl.doubtnut.com/l/_ZQ0KF37RkWNs
https://dl.doubtnut.com/l/_fIIE3ltbFWOA


C. 

D. 

Answer: A

Watch Video Solution

70∘

100∘

2. Find the measure of an angle, if six times its complement

is  less than twice of its supplement

A. 

B. 

C. 

D. none of these

12∘

192∘

52∘

48∘

https://dl.doubtnut.com/l/_fIIE3ltbFWOA
https://dl.doubtnut.com/l/_qpPLOPZIFbFC


Answer: C

Watch Video Solution

3. In the adjoining figue if AOB is a straight line and if

, find  


Watch Video Solution

x : y : z = 4: 5: 6 ∠x, ∠ and ∠z

https://dl.doubtnut.com/l/_qpPLOPZIFbFC
https://dl.doubtnut.com/l/_wErHqgrxexv7


4. In the given figreu

, find 

 


A. 

B. 

C. 

D. 

AB ∣ ∣ CD, ∠BAD = 30∘ and ∠ECD = 50∘

∠CED

120∘

30∘

100∘

50∘

https://dl.doubtnut.com/l/_nfdmv2fCF0Sc


Answer: C

Watch Video Solution

5. Two unequal angles of a
 parallelogram are in the ratio


Find all its angles in
degrees.

Watch Video Solution

2: 3.

6. In the figure OP||RS. Determine  


Watch Video Solution

∠PQR

https://dl.doubtnut.com/l/_nfdmv2fCF0Sc
https://dl.doubtnut.com/l/_xEAc9BuZkSYL
https://dl.doubtnut.com/l/_jLusZOyHKmdU


7. Prove that the
 bisectors of a pair of vertically opposite

angles are in the same straight
line.

Watch Video Solution

8. In the figure if EC is the bisector of

 Find 

Watch Video Solution

∠BCD and AB||CD||EF . ∠ABC

https://dl.doubtnut.com/l/_jLusZOyHKmdU
https://dl.doubtnut.com/l/_3iT86LHdOsJY
https://dl.doubtnut.com/l/_b0LFZIvZmV2F


9. In the given figure

. Find the valueof x. 

Watch Video Solution

PQ ∣ ∣ RS, ∠AEF = 95∘ , ∠BHS = 110∘ and ∠ABC = x ∘

https://dl.doubtnut.com/l/_Rwr75DDiV9Me


10. In the given figure if l||m, what is the value of x. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

50∘

45∘

60∘

30∘

https://dl.doubtnut.com/l/_U45BpKbnKZUG
https://dl.doubtnut.com/l/_JJzUnZDzODYV


Revision Exercise Long Answer Questions

11.  में, , , हे, तब 

 का मान ज्ञात करे?

Watch Video Solution

ΔABC ∠A + ∠B = 65∘ ∠B + ∠C = 140∘

∠B

12. If the angles of a triangle are in the ratio 
 .

determine three angles.

Watch Video Solution

2: 3: 4

1. If two parallel lines intersected by a transversal; prove that

the bisectors of the two pairs of interior angle encloses a

rectangle.

https://dl.doubtnut.com/l/_JJzUnZDzODYV
https://dl.doubtnut.com/l/_YigsEpjhHNdY
https://dl.doubtnut.com/l/_toLKc3AqZu2Z


Watch Video Solution

2. The side 
of a 
is produced, such that 
is one ray


The bisector of 
meets 
 in 
as shown in Figure.

Prove that 

Watch Video Solution

BC ABC D

BC. ∠A BC L

∠ABC + ∠ACD = 2∠ALC

https://dl.doubtnut.com/l/_toLKc3AqZu2Z
https://dl.doubtnut.com/l/_Pp4N5NPVC2gr


3. In the given figure, prove that x=a+b+c. 

Watch Video Solution

4. From the adjoining figure

 
∠A + ∠B + ∠C + ∠D + ∠E + ∠F = ?

https://dl.doubtnut.com/l/_thN8lUidbkcz
https://dl.doubtnut.com/l/_L4JqoSzBLTFJ


A. 

B. 

C. 

D. 

Answer: B

180∘

360∘

540∘

270∘

https://dl.doubtnut.com/l/_L4JqoSzBLTFJ


Watch Video Solution

5. Prove that the angle
between internal bisector of one base

angle and the external bisector of the
other base angle of a

triangle is equal to one-half of the vertical angle.

Watch Video Solution

6. If one angle of a triangle is greater than the sum of the

other two, show that the triangle is obtuse angled.

Watch Video Solution

https://dl.doubtnut.com/l/_L4JqoSzBLTFJ
https://dl.doubtnut.com/l/_14YEHMTS8ClP
https://dl.doubtnut.com/l/_7b3gdfHoxkkz

